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Wahrscheinlichkeit und Statistik

Serie 2

Bitte stellt Fragen in den Ubungen und/oder im Forum.
Bitte stell sicher, dass du die Webseite https://kahoot.it/ in der Ubung am 12. Miirz 6ffnen kannst.
Freiwillige Abgabe bis 14. Mérz 8:00. Nachher kann selbststandig mit der Lésung verglichen werden.

Aufgabe 2.1 (Independences) Alix has four books: a mathematics book, a biology book, a chemistry
book and a mathematics-biology-chemistry book. Alix chooses one of the four books at random, with
uniform probability. Denote by M, B and C the events “the chosen book has mathematics in it” (respectively
biology, chemistry). Are the events M, B and C independent?

Aufgabe 2.2 (Cylinders) Sasha models coin tosses as follows. Let Q = {0,1}1123} 5o that an element
of Q is a sequence of 0 and 1’s. For w = (wn)n>1 € Q we interpret wy, as the result of the k-th throw (1 for
heads, 0 for tails). For all k > 1 and uy,...,ux € {0,1} we define the following set, called a cylinder:

CU17U27~~7“k = {(wn)nzl FW1 =Ut, ., WE = uk}: (1)

(1) Express (using unions, intersections and complements) the following events in terms of sets of type

(1) :
(a) Bn: "We get tails for the first time on the nth throw"
(b) A : “The result of the second throw is tails”.
(¢) C: "You never get tails".
(d) Dn: “you get tails at least twice in the first n throws”.
We assume the existence the existence of a probability P on (2,.4), where A is the o-field generated by
sets of the form (1) (cylinder o-algebra) such that

1

P(Cu17u27-<-,uk) = ok (2)

(2) Compute the probabilities of the previous events A, By, C, Dy.

Aufgabe 2.3 Let (A,)n>1 be a sequence of independent events on a probability space (2, A, P). Show
that

P[] A ] =]]PAn).

n>1 n>1

Aufgabe 2.4 Let (F,) be a sequence of independent o-fields and consider a bijection o: {1,2,3,...} —
{1,2,3,...}. Show that (F,(,)) is still a sequence of independent o-fields.

Aufgabe 2.5 Sei (2, F,P) ein Wahrscheinlichkeitsraum, wobei Q = [0,1) ist und P das Lebesgue-Mass
auf der Borel-o-Algebra F = B([0, 1)) ist. Wir betrachten fiir jedes n € N die Teil-o-Algebra

Fn =0 (En),

. k kE+1Y\ n_
o { [ 5 ke oo

(a) Beweise, dass F,, C Fn1 gilt.

(b) Wie viele Elemente hat F,?

Hinweis: Verwende, dass &£, := { [2%, %) tke{0,...,2" -1} } eine Partition von € ist. Daraus

kannst du folgern, dass sich jede Menge in F,, als Vereinigung von Mengen aus &, dargestellt werden
kann (und natiirlich ist umgekehrt jede dieser Verneinungen auch in F,).

mit
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(¢) Wir definieren

k kE+1
A= U [27 o )
0<k<2™-1,
k gerade

Zeichne A,,. Fir welche N € N gilt A,, € Fn?
(d) Berechne P (A,).
(e) Sei m < n. Beweise, dass

VAE]—'m:P(AmAn):%P(A)

(f) Folgere daraus, dass (A,)n>1 unabhingig sind.

Wenn du Feedback zur Serie hast, schreibe bitte in das Forum (oder eine Mail an Jakob Heiss).

2/2


https://metaphor.ethz.ch/x/2024/fs/401-2604-00L/
https://forum.math.ethz.ch/c/spring-24/probability-and-statistics/182
https://people.math.ethz.ch/~jheiss

